L es pieces sont dans la pochette
Particolare contenufo nel corredo

Q
Q

quemant!

paraturnurdurch autorisierie Werkstatt zugalagsen!
ttenzione: E permessa lariparazione scla agli adshi dellofficing autorizzatal

Attention: Réparation autorisée parles distributeurs agrées WABCO uni
Atencion: Lareparacitn solo esté permitida atalleres especializados.

Attention: Repaironly by authorizad workshop pemitted

Achiung: Re
A

WARNING

Diese Teile sind im Reparatursatz enthalten

These parts are included in the repair kit

Whkat
—
—
A
-
——

|
O
O

Estas piezas estan incluidas en el conj. de reparacion

Repair kit « Jeu de réparation « Reparaturs_étz
Corredo di riparazione « Conjunto de reparacion

965 001004 2

fordevices:
pour appareils:
fir Gerate:

per apparecchi:
para aparatos:
9650010090
9650010100

Démontage du robinet DMSL

Deévisser fes 2 vis TORX M6 (6) cHté pédale.
Dévisser les 2 vis TORX M6 (5) coté robinet.
Entever le robinet DMSL.

Montage du robinet DMSL

Placer le nouveau DMSL en vérifiant :
- le joint de forme (3) en place dans sa gorge
- les clips (2} en place
- le balancier (1) en place et dans ie bon sens
Visser les 2 vis TORX M6 (5) cdté robinet DMSL au couple de
520,75 N.m . | f.
Visser les 2 vis TORX M6 (6) coté pédale au couple de 510,75 N.m

Therightof amendment js reserved @ copyright WABCO Fahrzeughremsen, Hannover.

Mo part of this publication may be reproduced without cur prior permission.

Sous fouta rézerva de modifications @ copyright: WABCO Fatrzeugbremsen, Hannover,
Toute reproduciioninterdite sans autorization préalable.

Anderungen bleiben vorbehaken@Copyright: WABCO Fahrzeughremsen, Hannover,

MNachdruck -auchauszugsweise -nurmitunserer Genehmigung.

Conriservadi eventualimodifiche 8 copyright: WABCO Fahrzeugbremsen, Hannover,
Cluzstapubblicaziona nonpudessera riprodotta, senzalanostra.

Ressrvadoe|derecho demodificacion® copyright: WABCO Fahrzeugbreinsen, Hannover. Ninguna
parta de esta publicacion pusde reproducirse sin el consentimisnto previo.

Dismounting of foot brake valve DMSL
Remove the 2 screws (6) pedal side

Remove the 2 screws (5) foot brake valve side
Take off the foot brake valve DMSL

Mounting of foot brake vaive DNMISL
Put the foot brake valve after having checked :
- the gasket (3) in the groove
- the clips (2) in their positions
- the plate (1} in the right direction
Put the 2 screws (5) foot brake valve side with forque of
520,75 N.m
Put the 2 screws (6) pedal side with torgue of 5:0,75 N.m

Vehicle Controi Systems
An American Standard Company

WABC

826 101 401 3 Edition 01.2002




